
 

B–1800/AEC–01 P. T. O. 

No. of Printed Pages : 14 AEC–01 

BACHELOR’S DEGREE 

PROGRAMME (BDP)  

Term-End Examination 
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(Application Oriented Course) 

AEC-01 : ENVIRONMENTAL CHEMISTRY  

Time : 3 Hours  Maximum Marks : 100 

Note : Answer all the questions. The marks for 

each question are given against it. 

1. (a) Fill in the blanks in any five of the 

following : 5×1=5 

(i) .......... soils the most agriculturally 

important in India, cover 

approximately 700000 km2 of  

land. 

(ii) At lower temperature the biological 

activities of a water body become 

............. . 
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(iii) The solvent extraction technique is 

based on the principle of ........ 

distribution. 

(iv) Disease producing microorganisms 

are also known as ............ . 

(v) Detergents are a type of .......... 

pollutants. 

(vi) An element required for normal 

growth of the plants is called 

........... . 

(b) Define any five of the following : 5×1=5 

(i) Humification 

(ii) Pedon 

(iii) Cation exchange capacity 

(iv) Troposphere 

(v) Energy Budget 

(vi) Total Dissolved Solids 

(c) Answer any five of the following : 

5×2=10 

(i) What is meant by marsh  

formation ? 
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(ii) Write the full form of any two of the 

following : 

(a) SPM 

(b) RAM 

(c) AQMS 

(d) CPCB 

(iii) “Ammonia gas is more soluble than 

Nitrogen gas in water.” Explain. 

(iv) How does sulphur dioxide affect the 

mesophyll cells in plant leaves ? 

(v) Differentiate between adsorption 

chromatography and partition 

chromatography. 

(vi) What is a reference electrode ? Give one 

example. 

2. Answer any four of the following : 4×5=20 

(i) Compare the methods of lagooning and 

irrigation for the treatment of dairy 

waste. Explain in detail. 

(ii) Write the advantages and 

disadvantages associated with crop 

rotation and monoculture. 
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(iii) Name any five pollutants to which 

animals and humans are likely to be 

exposed. 

(iv) What are the impacts of pesticide use 

on non-target species in agro- 

ecosystem ? 

(v) What are chromophores and 

auxochromes ? How do there groups 

influence the absorption of electro-

magnetic radiation ? Explain with 

suitable examples. 

(vi) Describe the principle and application 

of potentiometric pH measurement. 

What are the advantages of using pH 

meter over traditional indicator  

methods ? 

3. Answer any four of the following : 4×5=20 

 (i) Name the three biological agents 

present in water and transmitted 

through ingestion. Write any three 

diseases caused by ingestion of water- 

borne agents. 
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(ii) Write any two advantages and three 

disadvantages of biomonitoring. 

(iii) What are the environmental concerns of 

surfactants ? How do the structural 

characteristics of surfactants influence 

their environmental impact ? 

(iv) What is the significance of Total 

Suspended Solids (TSS) and settleable 

solids in water pollution and  

treatment ? What methods are 

commonly used to address them ? 

(v) Describe the concept of Cation 

Exchange Capacity (CEC) in soils. 

Explain how organic matter functions. 

(vi) Describe the mechanism through which 

air pollutants damage ferrous metals. 

How do factors like moisture, 

temperature and wind speed influence 

the rate of corrosion ? 

4. Answer any four of the following : 4×5=20 

(i) What is the concept of cell potential in a 

galvanic cell ? Describe the Nernst 

equation by providing an example using 

a copper half-cell. 
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(ii) What are the different types of 

electronic transitions observed in 

organic molecules in the UV-Visible 

region ? Explain with suitable example. 

(iii) Describe the primary and secondary 

treatment methods used for tannery 

effluents. 

(iv) What are indicator microorganisms ? 

Write any three characteristics of 

indicator organisms. 

(v) Describe the role of modern technology 

in water conservation and management. 

Explain any two technologies in detail. 

(vi) Describe the basic components of Flame 

Emission Spectrophotometer (FES). 

List any two applications of FES. 

5. Write short notes on any four of the 

following :  4×5=20 

(i) Redox titrations 

(ii) Column chromatography 
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(iii) Integrated Pest Management 

(iv) Microorganisms in sewage 

(v) Steps involved in the sampling 

procedure for environmental analysis 

(vi) Hydrological cycle 
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 AEC–01 

Lukrd mikf/k dk;ZØe (ch- Mh- ih-) 

l=kar ijh{kk  

twu] 2025 

(O;ogkjewyd ikB~;Øe) 

,-bZ-lh-&01 % i;kZoj.k jlk;u 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % lHkh iz'uksa ds mÙkj nhft,A izR;sd iz'u ds vad mlds 

lkeus fn;s x, gSaA 

1- (a) fuEufyf[kr esa ls fdUgha ik¡p esa fjDr LFkku Hkfj, % 

5×1=5 

(i) 
-----------------

 feV~Vh Hkkjr esa Ïf"k dh n`f"V ls 

lcls egRoiw.kZ gS] tks yxHkx 700000 km2 

Hkwfe dk vkPNknu djrh gSA 

(ii) de rkieku ij ty fudk; dh tSfod 

xfrfof/k;k¡ 
---------------

 gks tkrh gSaA 
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(iii) foyk;d fu"d"kZ.k rduhd 
--------------- 

forj.k ds 

fl¼kUr ij vk/kkfjr gSA 

(iv) jksx mRiUu djus okys lw{ethoksa dks 
--------------- 

Hkh dgk tkrk gSA 

(v) viektZd ,d izdkj dk 
--------------- 

iznw"kd gSaA 

(vi) ikS/kksa dh lkekU; o`f¼ ds fy, vko';d rRo 

dks 
--------------- 

dgk tkrk gSA 

(b) fuEufyf[kr esa ls fdUgha ik¡p dks ifjHkkf"kr  

dhft, %  5×1=5 

(i) áwelHkou 

(ii) isMkWu 

(iii) /kuk;u fofue; {kerk 

(iv) {kksHke.My 

(v) ÅtkZ ctV 

(vi) dqy ?kqfyr Bksl 

(c) fuEufyf[kr esa ls fdUgha ik¡p ds mÙkj nhft, % 

5×2=10 

(i) nyny fuekZ.k dk D;k eryc gS \ 
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(ii) fuEufyf[kr esa ls fdUgha nks ds iw.kZ :i 

fyf[k, % 

  (d) ,l- ih- ,e- 

  ([k) vkj- ih- ,e- 

  (x) ,- D;w- ,e- ,l- 

  (?k) lh- ih- lh- ch- 

(iii) ßveksfu;k xSl ty esa ukbVªkstu xSl ls vf/kd 

?kqyu'khy gSAÞ le>kb,A 

(iv) lYQj MkbvkWDlkbM ikS/kksa dh ifÙk;ksa essa e/; 

i.kZ dksf'kdkvksa dks dSls izHkkfor djrk gS \ 

(v) vf/k'kks"k.k o.kZysf[kdh vkSj foHkktu 

o.kZysf[kdh ds e/; vUrj crkb,A 

(vi) funsZ'k bysDVªksM D;k gksrk gS \ ,d mnkgj.k 

nhft,A 

2- fuEufyf[kr esa ls fdUgha ik¡p ds mÙkj nhft, % 4×5=20 

(i) Ms;jh vif'k"Vksa ds mipkj ds fy, ySxwuu vkSj 

¥lpkbZ dh fof/k;ksa dh rqyuk foLrkj ls dhft,A 



 [ 11 ] AEC–01 

B–1800/AEC–01 P. T. O. 

(ii) Qly vkorZu vkSj ,d /kkU; Ïf"k ls tqM+s ykHk vkSj 

gkfu;k¡ fyf[k,A 

(iii) fdUgha ik¡p iznw"kdksa ds uke crkb, ftuls i'kqvksa 

vkSj euq";ksa ds izHkkfor gksus dh lEHkkouk gksrh gSA 

(iv) Ïf"k ikfjfLFkfrdh ra= esa xSj&y{; iztkfr;ksa ij 

dhVuk'kdksa ds mi;ksx ds D;k izHkko gSa \ 

(v) o.kZewyd vkSj o.kZo/kZd D;k gSa \ ;s lewg 

fo|qrpqEcdh; fofdj.k ds vo'kks"k.k dks fdl 

izdkj izHkkfor djrs gSa \ mi;qDr mnkgj.k nsdj 

le>kb,A 

(vi) foHkoferh; ih-&,p- eki ds fl¼kUr vkSj vuqiz;ksx 

dk o.kZu dhft,A ikjEifjd lwpd fof/k dh rqyuk 

esa ih-&,p- ehVj dk mi;ksx djus ls D;k ykHk gSa \ 

3- fuEufyf[kr esa ls fdUgha pkj ds mÙkj nhft, % 4×5=20 

(i) ty esa ekStwn rhu tSfod dkjdksa ds uke crkb, tks 

vUrxzZg.k ds ek/;e ls lapkfjr gksrs gSaA tytfur 

dkjdksa ds vUrxZzg.k ls gksus okyh dksbZ rhu chekfj;k¡ 

crkb,A 
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(ii) tSoifjoh{k.k ds dksbZ nks ykHk vkSj rhu gkfu;k¡ 

fyf[k,A 

(iii) i`"B&lfØ;dksa dh i;kZoj.kh; fpUrk,¡ D;k gSa \ 

i`"B&lfØ;dksa dh lajfpr fo'ks"krk,¡ muds 

i;kZoj.kh; izHkko dks dSls izHkkfor djrh gSa \ 

(iv) ty iznw"k.k vkSj mipkj esa lEiw.kZ fuyfEcr Bksl vkSj 

fu%lknuh; Bksl dk D;k egRo gS \ mUgsa gVkus ds 

fy, vkerkSj ij dkSu&lh fof/k;ksa dk mi;ksx fd;k 

tkrk gS \ 

(v) e`nkvksa esa /kuk;u fofue; {kerk dh vo/kkj.kk dk 

o.kZu dhft,A crkb, fd dkcZfud inkFkZ dSls dk;Z 

djrs gSaA 

(vi) ml fØ;kfof/k dk o.kZu dhft, ftlds ek/;e ls 

ok;q iznw"kd ykSg /kkrqvksa dks uqdlku igq¡pkrs gSaA 

vkæZrk] rkieku vkSj ok;q dh xfr tSls dkjd 

la{kkj.k dh nj dks fdl izdkj izHkkfor djrs gSa \ 
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4- fuEufyf[kr esa ls fdUgha pkj ds mÙkj nhft, % 4×5=20 

(i) xSYosuh lsy esa lsy&foHko dh vo/kkj.kk D;k gS \ 

uULVZ lehdj.k dk o.kZu dkWij v/kZ&lsy ds mi;ksx 

dk mnkgj.k iznku djds dhft,A 

(ii) ijkcSaxuh&n`'; {ks= esa dkcZfud v.kqvksa esa ns[ks tkus 

okys fofHkUu izdkj ds bysDVªkWfud laØe.k D;k gSa \ 

mi;qDr mnkgj.k ds lkFk le>kb,A 

(iii) peZ laLdkj'kkyk ls fudyus okys cfg%lzko 

(vif'k"V) ds fy;s iz;qDr izkFkfed vkSj f}rh;d 

mipkj fof/k;ksa dk o.kZu dhft,A 

(iv) lwpd lw{etho D;k gSa \ lwpd thoksa dh dksbZ rhu 

fo'ks"krk,¡ fyf[k,A 

(v) ty laj{k.k vkSj izcU/ku esa vk/kqfud izkS|ksfxdh dh 

Hkwfedk dk o.kZu dhft,A fdUgha nks izkS|ksfxfd;ksa ds 

ckjs esa foLrkj ls crkb,A 

(vi) Tokyk mRltZu LisDVªeizdk'kfefr (,Q- bZ- ,l-) ds 

ewy ?kVdksa dk o.kZu dhft,A ,Q- bZ- ,l- ds dksbZ 

nks vuqiz;ksx lwphc¼ dhft,A 
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5- fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡  

fyf[k, %   4×5=20 

(i) jsMkWDl vuqekiu 

(ii) LrEHk o.kZys[kh 

(iii) ,dhÏr ihM+d izcU/ku 

(iv) okfgr ey esas lw{etho 

(v) i;kZoj.k fo'ys"k.k ds fy, izfrp;u izfØ;k esa 

'kkfey pj.k 

(vi) tyh; pØ 

× × × × × 

 

 

 

 

 

 

 


